HTOj — Azq Median — Correchon exereceg A7

E]"A = @lf ’_Do&we. / ()l'vob Ao Gauss oA Léwfgtéa/h'm ;) M Froave

y / 4 .
. A=l avece L= c o 10 0)\T
% (4" A o |y U$(£4 o |-
1h Al A 'R ‘LAv

0. On wnj"b‘/{lfTM( U= &4LT.

3. Do A=LlU= L/4LT)= (LL) (2L)T . On pose =2
Ona A= GQT/ £ )’A«»MLM Y (XX TV'S ex( ’mL’>CD Ve
=> R admf uw fw/fan‘w/ivém e [L\In ko => A Mg .

ExZ -
A la m'u}”woll. vk otk M 0((1,44): /V’X(&,-!— L awe

H:/AM_I S N:/.:L__T_-A. fore 30, Mot wvusitla

2__/_))/“(,,\20 Lo carnss, ume CNS Ae Converg imen Ve
f[l’l"N) = f/:./«/u < 4,

3. Vour b s A

Lo brhA=6ldaeds, defhd=9-4=5=A0de = [l 5.

A)’Wv\ avéc ,.\_(, At} o A}V‘Lf AJJP //\l-lflgﬂcl a k?ﬂﬂ%)’»m 3)
5= A(d(:A“%“ / l.:'/{lz" —_ "/AA‘GL.#'/N\‘C_C

On a awmne  Tac= Ayl = (I»/A)cacﬁ (A»/Jg)gat»/

o les vip do Tph ponh (A dn) b (ApAL). = Ag

§ Sact kpﬁb)z Mmﬂ/‘AA/MAA] y 'AA/«‘J’L) )-: (ma\x/,/tyu\)ljaﬁ/«\
’ J/
OV\A,W \‘Fpﬂ)z ¢ (If—/&ﬂ)‘



# ‘ +* *. 5,
| KA;: 4 /“ / /174 = S/A*LA => /« 3%
3

((£7«A): {/'—/«- o g /
Sp-t o ps pt

/ /I—/u A) vt MMMAQFM//«A:/A %

a  amnse )
Oy\ /A ’1“{-4(

7 le mithde () converye oo pUrpA)e 4
L= \PQA) < A
= mclo, %
f- la pmibhook Converd e i’cflw wh = (/IVAA) PN, |
e—> /*a/u"‘

ke 2.
3. Ad=p(T-pTh)= L) = Aspt = 2

ax A<
= 2 X‘L/A)’ _/m__;\__’_
L domc J/Q(M | N )

e Xelt)=5=5 =%
+ 2 Anrde = 244 Ao d4
M- A A A e T Tl A dd
Ac/dr~4 X (R) -4
- Ar/dA £ 4 - X la)+ A
pe ) = (;_\/ﬁﬂ)%(u*ﬂ@ = XLt o o 4) "0 *)
x* = (f‘/"*A)mm*/"*l’



Em(y\m\ow{” I meme 2 e P’ww, 37
[P ” (£ #5R) (™) H,
< Jiz-pFalie Jla®™),
man A J‘a’“@ﬂ% = (17«/’“74 )J’(dn&('nquw;
= “1-/4*/\ le = p /'L/u*ﬂ) = & .

O A dme
”f)&uﬂ),.og‘ “L \( O< N QL(&)«- ’)(* nz_ "

’Paf /\szwf\(‘fﬂ\f-t)
Dol € 4% a5,

(-> ”"‘ =ik “& ‘:+Z.




